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Introduction

@ |[nitial look at first lep-had CxAOD production

@ Thanks Agni! r
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@ Find that data is significantly lower
than MC
@ Factorof5less ®

® No obvious localisation in variables
looked at, except peakatpu=0

® Seems data yield of CxAODs is low
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® ~1600 events compared to ~52k for o
VHbb 2 lepton production o %:
® We may be missing data somehow é 0
T -0
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@ Anyway look at some plots in next slides

@ See if rest of production looks OK

® No pile up reweighting applied in these
06/03/2015 Validation Meeting

WN.LOLNW ©
(e '

—_—
_ ATLAS Internal

__J-Ldt =0.078f" ys=
[ ZH-slibb, > 0 tag, > 2 jets, PY >0 GeV

————
¥ KS ]
Stat 139 3.92e-27—
Syst 197 1.01e-28 ]

Shape 197 1.01e-28_T]

13 Tev

uuhmhmluuluulnuhmhm-lll

0

20

30 60 80 100
Average bunch crossings



Selection

@ Above what is applied in the CxAOD maker ...

@ Signal objects
@ p,>20GeV
® p.ler>25GeV
® p/et> 45/20 GeV

@ Event selection
@ Single lepton triggers
@ 1 signal lepton and no other leptons
@ 1 signal tau and no other taus
® 2>2jets

® Splitinto O, 1, 2 b-tags

@ Opposite charge tau and lep
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Leptons (O b-tag)
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Taus (0 b-tag)
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Additional Variables (Q cut, O b-tags)
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m,. (Q cut, all b-tags)
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